Odd and Even Numbers -Answers

Key Stage 2: 2004 Paper A
1.

Key Stage 2: 2004 Paper A
2.

DOR4OR16 | 1ORS OR 25
OR 36 OR 64 | OR 42 OR 81

ever AND add AND
not square AND not square AND
less than 100 | less than 100
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Key Stage 2: 2008 Paper B

2.
9 Diagram completed as shown:
muliples of 8 nml'ﬂ:I(:!-ts e
72 56
aven 54 84
B3 49
not even
4 75
Key Stage 2: 2010 Paper A
1.
10 Awvard TWO marks for the table completed as
shown:
odd not odd
Rt 247 990
number
not a 3-digit 25 49 7002
number

If the answer is incomect, award OME mark for four

numbers placed comectly.

Key Stage 2: 2010 Paper A
2.

17 1B+16+4
OR
18+14+8
OR
18+12+10
OR
16+14+10

im Accept recognisable misspellings.
Accept ‘odd’ for ‘not even’.
Accept alternative unambiguous
indications, eg lines drawn from the

labels to the appropriate parts of the
diagram.

Upto 2m De neot accept numbers written in more than one
section.

1m MNumbers may be given in any order.
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2011 Paper B L6

845 1m
2012 Paper B
An explanation which gives a counter-example im

to illustrate that two odd numbers and an even
number can total 50, eg:

W46+ 14+ 3="50

B 20 + 15 + 15 works'
B 'S and 20 and 25’
OR

@)

an explanation which recegnises that two of the
numbers could be odd, eq:

B "“You could use two odd numbers to make 10,
and then add 40

B "Two of the numbers could be 1 and 3°

B 'Odd + odd + even = even’.

2013 Paper B L6

Gives a correct probability, eg:

* 459
* 045
-4

Shows or implies a complete correct method, im

with not more than one computational error, eg:
o 3 =100 = 4 = 40% (erron)

40% + 30% = 70%

100% - 70% = 30%

1-0.25-0.30 = 0.55 (error)

* P(Salt & Vin) = 1 = P(Prawn) - P(Cheese)
100% - 25% - 30%

MNa mark is awarded for circling "N’ alone.

Do not accept vague or incomplete explanations,
eg:

B “ou can't divide it by 3'

B ‘Odd + odd = even”.

If *fas' is circled but a correct, unambiguous
explanation is given, then award the mark.

Probability
See guidance (page 8)

Probability expressed as a percentage
without a percentage sign

Condone for 1m, ie:

= 45

Conversion between fractions, decimals
and percentages

Within a complete correct method,
conversions must be correct and/or show
the method of conversion

X  Incomplete methods which do not convert

the probabilities to a commeon format, eg:
o1 -1 -30%






